KR LT 7/2 A . .
E32IEKDG LT 4 — A& =T DN 7 RFE
20255 28 20H (k)
| BRAE BT
FIEHI MR :
HDCP EFR(B):  99.9 HDCPEFR(Z): 99.9

ZIMAE 504

B iz BWHEEA BB 79 4  GROSS HDCP NET =E
B B FHF Eil 46 50 96  24.0 72.0
HEEE F B4E 45 51 96  23.0 73.0
L Hl B— 51 51 102  29.0 73.0
AL FRO FAE 43 45 8 13.0 75.0
L i FEREE 46 48 94 19.0 75.0
6L FHHE Fnk 52 55 107 32.0 75.0
T BE EAER 56 53 108 33.0 75.0
8L R T 43 39 82 6.0 76.0
o HZE FHK— 47 48 95 18.0 77.0
102 i ==— 52 45 97 20.0 77.0
1z A EE 52 48 100 23.0 77.0
12 HFE EH 50 49 99 21.0 78.0
13 F 8 &t 55 51 106  27.6  178.4
147 A = 54 51 105 26.4 78.6
150 N 1518 46 48 94 15.0  79.0
16 KA HE 58 47 105  25.0  80.0
176 JcH &L 53 52 105 25.0 80.0
18(if /AR B 47 44 91 10.0  81.0
1947 &M BHIL 48 48 96 15.0 81.0
20 ®HF 47 51 98 17.0  81.0
2167 HEFT [HBE 47 40 87 5.0 82.0
2207 W EF 49 51 100 18.0 82.0
23 BER BA= 50 51 101  19.0 82.0
247 A &= 52 58 110 27.6  82.4
25 &aR FiE 51 48 99 16.0 83.0
260 1EUE 22 51 51 102 18.0 84.0
2707 &R J\ER 51 55 106 22.0 84.0
28 ZxA HiE 52 51 103 18.0 85.0
2007 oAk 2 55 53 108  23.0 85.0
300 HEART EBL 54 39 93 7.0 86.0
3L Z&HE T 52 47 99 13.0 86.0
320 K S 52 56 108 22.0 86.0
RRZAVARE == 50 49 99 12.0  87.0
4L F EE 55 53 108 21.0 87.0
350 &k TFHEAC 56 53 109 22.0 87.0
B =FF 58 53 111 24.0 87.0
3T B E E— 60 53 113 26.0 87.0
3L HF A 49 50 99 1.0  88.0
39 =/ EH 55 48 103 15.0 88.0
4007 RS 1FE 58 49 107 18.0  89.0
416 KT 18 55 59 114 25.0 89.0
4267 N E 68 57 125 36.0 89.0
430 BF HEE 50 49 99 8.0 91.0
4407 TR R"E 53 49 102 1.0 91.0
450 &F fE— 50 48 98 6.0 92.0
46fv £H EBE 49 55 104  12.0  92.0
476 A B’ 66 62 128 33.0 95.0
A8 WE W 70 57 127 27.0 100.0
4907 BIR %Y 67 75 142 36.0 106.0
50y HF HFE 65 67 132  24.0 108.0



